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% ﬁ ‘ %' Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagdo:
1,737 x 1000000 = 2,639 x 10 =
6,986 x 10 = 3, 609 x 100000 =
6,396 x 10 = 1,876 x 100000 =
7,85 x 100000 = 5,699 x 10 =
7,369 x 100 = 7,419 x 100000 =
7, 104 x 1000000 = 5,799 x 10 =
4,427 x 1000 = 10, 486 x 100000 =
1,826 x 1000000 = 1,897 x 1000 =
1,634 x 1000000 = 7,58 x 100000 =
10, 127 x 1000 = 4,83 x 10000 =
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W ﬁ ‘ Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagio:
1, 737 x 1000000 = 1737000 2,639 x 10 =26.39
6,986 x 10 = 69.86 3, 609 x 100000 = 360900
6,396 x 10 = 63.96 1, 876 x 100000 = 187600
7, 85 x 100000 = 785000 5,699 x 10 = 56.99
7,369 x 100 = 736.9 7,419 x 100000 = 741900
7, 104 x 1000000 = 7104000 5,799 x 10 = 57.99
4,427 x 1000 = 4427 10, 486 x 100000 = 1048600
1, 826 x 1000000 = 1826000 1,897 x 1000 = 1897
1, 634 x 1000000 = 1634000 7,58 x 100000 = 758000
10, 127 x 1000 = 10127 4,83 x 10000 = 48300
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